BHU 2018

1. Which part of the Indian Constitution has been described by Nani Palkhivala as au 'lIdentity Card
of the Constitution’?

(1) Fundamental Rights (2) Directive Principles of State Policy

(3) Federal Structure (4) Preamble

2. In which part of the Constitution of India, a provision for promotion of International Peace and
Security has been made?

(1) Fundamental Duties (2) Fundamental Rights

(3) Directive Principles of State Policy (4) Preamble

3. Which of the following Commission was appointed for creation of new States on the basis of
language?

(1) Fazl Ali Commission (2) Sarkaria Commission

(3) Nanavati Commission (4) Liberhan Commission

4. In India the concept of the 'Person of Indian Origin® (P1O) was introduced in year :

(1) 2015 (2) 2002 (3) 2006 (4) 2016

5. Fundamental Dudes were incorporated in the Constitution of India on recommendation of:
(1) Motilal Nehru Committee (2) Swaran Singh Committee

(3) Arun Jaitly Committee (4) Malimath Committee

6. The Chairman of the First Official Language Commission was :

(1) B.G. Kher (2) Balwant Rai Mehta

(3) Govind Ballabh Pant (4) Choudhary Charan Singh

7. Which of the following Schedule relating to Urban Local Bodies was introduced by 73rd
Constitution Amendment Act, 1992 ?

(1) IX (2 X (3) XI (4) Xl

8. Schedule 111 of the Constitution of India is related to

(1) Salary of President and the Governors of States

(2) Oath /Affirmation by Ministers

(3) Legislative Powers of Parliament and State

(4) Official Language

9. To resolve the disputes relating to waters of inter-State rivers, the Constitution of India has made
provision in Article :

(1) 262 (2) 263 (3) 260 (4) 258-A

10. The Union Public Service Commission shall submit its Annual Report to the

(1) President

(2) Speaker

(3) Prime Minister

(4) Ministry of Personnel, Public Grievances & Pensions

11. International Criminal Court (ICC) is located at:

(1) Switzerland (2) Hague (3) Lyndon (4) Geneva

12. Who among the following has been elected twice as the Judge of International Court of Justice
(1cJy?

(1) Justice R.S. Pathak (2) Justice Dalveer Bhandari

(3) Sir B.N. Rau (4) Justice P.N. Bhagwati

13. The Nat ion a] Biodiversity Authority isin :



(1) Mumbai (2) Bhopal (3) Chennali (4) Dehradun
14. The term doii incapax is meant for :

(1) child below 7 years (2) child above 7 years but below 12 years
(3) child below 18 years (4) child below 14 years

15. In which of the following State, the provisions of anticipatory bail is not available?

(1) Andhra Pradesh  (2) Maharashtra (3) Uttar Pradesh (4) West Bengal

16 Under Article 13 of the Constitution of India, which of the following is not ‘Law’ ?

(1) Circular (2) Personal Law (3) Custom (4) Notification

17. The Constitution of India came into force on:

(1) January 26 (2) August 15 (3) November 26 (4) April 14

18. The Residuary Legislative Power under the Constitution of India lies with:

(1) Parliament

(2) State Legislature

(3) Parliament and State Legislature both

(4) President of India

19. The following age group of children are entitled to free and compulsory education under RTE Act,
2009 :

(1) 5-12 years (2) 6-14 years (3) 8-16 years (4) 7-18 years
20. Which of the following reduces the offence of murder to culpable homicide?

(1) Unsoundness of mind (2) Intoxication

(3) Provocation (4) Accident

21. UIDAI is responsible for implementing :

(1) MNREGA Scheme (2) Aadhaar Scheme

(3) Swachha Bharat Scheme (4) Digital India Scheme

22. What is the term of non-permanent members of the Security Council of the United Nations
Organization?

(1) 6 years (2) 5 years (3) 2 years (4) 4 years

23. Which of the following Judges of the ICJ delivered judgement in Kulbhushan Jadhav Case?
(1) William Webb (2) Rommy Abraham

(3) Pitt Cobbett (4) B. N. Cardozo

24. Who of the following administers Oath of Office to the President of India?

(1) Outgoing President (2) Vice -President

(3) Chief Justice of India (4) Prime Minister

25. The Parliamentary System of Administration is borrowed in India from which of the following
countries?

(1) USA (2) England (3) Canada (4) Australia
26. Who of the following coined the term 'Harijan?
(1) M.M. Malviya  (2) Vinoba Bhave (3) M.K. Gandhi (4) Aurobindo

27. "The State shall ensure that, the economic system does not promote concentration of wealth and
means of production.” Where this provision is provided?

(1) Article 14 (2) Article 39 (3) Article 41 (4) Article 31-A

28. Which of the following subjects was the domain of Malimath Committee?

(1) Constitutional Reform

(2) Criminal Justice and Administration Reform

(3) Stock Market Reform

(4) Personal Law Reform



29. Who of the following has not been accused in the Babri Masjid Demolition Case?

(1) L.K. Advani (2) M.M. Joshi (3) A.B. Bajpai (4) Kalyan Singh
30. Untouchability is abolished and its practice is punishable according to :

(1) Article 15 (2) Article 16 (3) Article 37 (4) Article 15 (4)
31. The quorum requirement in Rajya Sab hais :

(1) 25 (2) 100 (3) 50 (4) 126

32. Article 227 of the Indian Constitution deals with :
(1) the High Court's power of Superintendence of Courts
(2) Judicial Review

(3) the power of the Speaker

(4) the election of Vice-President

33. The headquarters of TLO is located at .

(1) Geneva (2) The Hague (3) New York (4) Rome
34. The Members of the Rajya Sabha are elected by :
(1) the People (2) Lok Sabha

(3) elected Members of the Legislative Assembly  (4) elected Members of the Legislative Council
35. What is the minimum permissible age for employment in any factory or

(1) 12 years (2) 14 years (3) 16 years (4) 18 years

36. Under which Articles of the constitution are the Cultural and Educational Rights granted?
(1) Articles 29 and 31 (2) Articles 29 and 32

(3) Articles 29 and 30 (4) Articles 30 find 31

37. The President may appoint all the following, except :

(1) Prime Minister (2) Governor

(3) High Court Judges (4) Rajya Sabha Chairman

38. How many members of the Rajya Sabha are nominated by the President of India?
(1) 10 (211 (3) 12 (4) 13

39. Nuisance can be :

(1) public (2) private (3) both public and private  (4) either private or public
40. The Ninth Schedule of the Constitution of India was added by :

(1) First Amendment (2) 24th Amendment

(3) 42nd Amendment (4) 93rd Amendment

41. Under Hindu Marriage Act, Hindu includes :

(1) Buddhist (2) Sikh (3) Jain (4) All of the above
42. Remedy of Restitution of Conjugal Rights is available to :

(1) wife (2) husband

(3) wife and husband both (4) husband's father

43. An agreement enforceable by law is a :

(1) enforceable acceptance (2) accepted offer

(3) approved promise (4) contract

Directions (Question No. 44 to 50) : In the questions given below are two statements labeled as
Assertion (A) and Reason (R). In the context of the two statements, select the correct answer by using
the codes given below the statement.

44. Assertion (A): The Contingency Fund of India is placed at the disposal of the President.

Reason (R): The President is the executive head of the State.

Codes:




(1) Both (A) and (R) are true and (R) is the correct explanation of (A).

(2) Both (A) and (R) are true but (R) is not the correct explanation of (A).
(3) (A) is true, (R) is false.

(4) (A) is false, (R) is true.

45. Assertion (A): In India, the Judiciary is independent of the Executive.
Reason (R): Judiciary favours the Government and helps in the
implementation of its plans.

Codes:

(1) Both (A) and (R) are true and (R) is the correct explanation of (A).

(2) Both (A) and (R) are true but (R) is not the correct explanation of (A).
(3) (A) is true, (R) is false.

(4) (A) is false, (R) is true.

46. Assertion (A): The Council of Ministers is collectively responsible to the Lower House.
Reason (R): Most of the Ministers are from Lower House.

Code:

(1) Both (A) and (R) are true and (R) is the correct explanation of (A).

(2) Both (A) and (R) are true but (R) is not the correct explanation of (A).
(3) (A) is true, (R) is false.

(4) (A) is false, (R) is true.

47. Assertion (A): The Indian Constitution provides for single citizenship.
Reason (R): The Indian Constitution is unitary in nature.

Codes :

(1) Both (A) and (R) are true and (R) is the correct explanation of (A).

(2) Both (A) and (R) are true but (R) is not the correct explanation of (A).
(3) (A) is true, (R) is false.

(4) (A) is false, (R) is true.

48. Assertion (A): An accused person cannot be compelled to give his thump impression,
Reason (R): An accused person cannot be compelled to be a witness against himself.
Codes :

(1) Both (A) and (R) art true and (R) is the correct explanation of (A).

(2) Both (A) and (R) are true but (R) is not the correct explanation of (A).
(3) (A) is true, (R) is false.

(4) (A) is false, (R) is true.

49. Assertion (A) : Crime is punishable because it is prohibited by the Law.
Reason (R) : Crime is revolting to the moral sense of society.

Codes:

(1) Both (A) and (R) are true and (R) is the correct explanation of (A).

(2) Both (A) and (R) are true but (R) is not the correct explanation of (A).
(3) (A) is true, (R) is false.

(4) (A) is false, (R) is true.

50. Assertion (A): Custom to have the force of law must be immemorial.
Reason (R): Custom represents common consciousness of the people.
Codes:

(1) Both (A) and (R) are true and (R) is the correct explanation of (A).

(2) Both (A) and (R) are true but (R) is not the correct explanation of (A).
(3) (A) is true, (R) is false.



(4) (A) is false, (R) is true.
51. 'Duncan Pass' lies in between :

(1) Andaman, and Nicobar (2) North and Middle Andaman

(3) North and East Andaman (4) North and Southern Andaman

52. Mahatma Gandhi was referred to as "The Father of Nation' first by:

(1) Jawaharlal Nehru (2) Vallabh Bhai Patel

(3) Raja Gopalachan (4) Subhash Chandra Bose

53. Which one of the following countries gives the ‘Magsaysay Award'?

(1) Japan (2) Indonesia (3) USA (4) Philippines
54. The science of time measurement is termed as

(1) Horology (2) Cosmology (3) Tomology (4) Hydrology
55. In computing, 1 nibble =?

(1) 4 Bits (2) 4 Bytes (3) 8 Bytes (4) 8 Kilobytes

56. Who among the following are the founders of Social Networking Site: "Twitter?

(1) Chris Hughes, Dustin Moskovitz, Eduardo Saverin, Mark Zuckerberg

(2) Larry Page, Sergey Brin

(3) Biz Stone, Evan Williams, Noah Glass, Jack Dorsey

(4) Jawed Karim, Chad Hurley, Steve Chen

57. Which of the following is not a ‘greenhouse gas?

(1) Carbon dioxide  (2) Methane (3) Ozone (4) Oxygen

58. The Chauri-Chaura incident resulted in the abrupt end of which of following?

(1) Civil Disobedience Movement

(2) Wahabi Movement

(3) Non-Cooperation Movement

(4) Home Rule Movement

59. Which of the following is the correct date on which the International Court of Justice was set up?
(1) January 31, 1946

(2) March 31, 1946

(3) April 18, 1946

(4) April 28, 1946

60. Which of the following term is used for rocks formed deep inside the Earth as a result of
solidification of lava?

(1) Volcanic rocks (2) Metamorphic rocks

(3) Plutonic rocks (4) Sedimentary rocks

61. To which of the following, Fiscal Policy is related?

(1) Population control (2) Public revenue and expenditure

(3) Issue of currency (4) Export and import

62. Which of the following term is used to refer to plants that grow m saline water?

(1) Mesophytes (2) Halophytes (3) Hydrophytes (4) Thallophytes

63. Who of the following presides over the joint sitting of the two Houses of Parliament?
(1) President (2) Prime Minister

(3) Speaker of Lok Sabha (4) Chairman of Rajya Sabha

64. Which of the following is obtained on a commercial scale from seawater beside sodium chloride?
(1) Radium (2) lodine (3) Thorium (4) Manganese

65. Which of the following is an igneous rock?
(1) Shale (2) Granite (3) Marble (4) Quartzite



66. In which, of the following, the term 'Cue’ is used?

(1) Chess (2) Billiards (3) Bridge (4) Squash
67. Who of the following happened to be the first woman Prime Minister in the World?
(1) Margaret Thatcher (2) Sirimavo Bandarnaike

(3) Indira Gandhi (4) Golda Mayer

68. Who of the following was elected President of France recently?

(1) F. Holland (2) Emmanuel Macron

(3) Angela Morkel (4) Theresa May

69. The symbol of the Summer Olympic Games is:

(1) five rings of the same colour (2) five rings of different colours
(3) four blue rings (4) four rings of different colours
70. ‘India for the Indians’ was the political message of :

(1) Dayananda Saraswati (2) Swami Vivekananda

(3) A.O. Hume (4) D. Wacha

71. What is the approximate length of the Great Wail of China?

(1) 2000 m (2) 2500 m (3) 3000 m (4) 3460 m
72. Which one of the following is not a Fundamental Right?

(1) Right to Property (2) Right, to Assemble Peacefully
(3) Right to Religion (4) Right to Constitutional Remedies
73. Fundamental Duties were inserted in the Constitution by

(1) 42nd Amendment (2) 44th Amendment

(3) 47th Amendment (4) 49th Amendment

74. Right to Education’ was inserted in the Part 111 of the Constitution by
(1) 82nd Amendment Act (2) 85th Amendment Act

(3) 86th Amendment Act (4) 89th Amendment Act

75. What is the meaning of lex loci ?

(1) Law of land

(2) Sovereignty is essential for enacting laws

(3) Law of land is supreme

(4) Crown has supreme authority

76. In which part of the Constitution, the concept of Welfare State *** elaboration?
(1) Preamble (2) Fundamental Rights

(3) Fundamental Duties (4) Directive Principles

77. Who summons the meetings of the Parliament?

(1) Minister of Parliamentary Affairs

(2) Prime Minister

(3) President

(4) Speaker and Vice-President

78. Which High Court in India had the first woman Chief Justice?

(1) Madras (2) Allahabad

(3) Punjab and Haryana (4) Himachal Pradesh

79. A Legislation enacted by a State Legislature falls in the category of :

(1) subordinate (2) supreme (3) autonomous (4) delegated
80. The Battlefield of Plassey is situated in:

(1) Bihar (2) Andhra Pradesh  (3) Odisha (4) West Bengal

81. If the arithmetic mean of 6 numbers is 45, what is the total sum of these numbers?



(1) 27 (2) 45 (3) 65 (4) None of these

82. In an examination, it is required to get 36% of maximum marks to pass. A student got 113 marks
and was declared failed by 85 marks. The maximum marks are:

(1) 500 (2) 550 (3) 640 (4) 1008

83. A man's wages were decreased by 50%. Again the reduced wages were increased by 50%. He has a
loss of :

(1) 0% (2) 0.25% (3) 2.5% (4) 25%

84. The boys and girls in a college arc in the ratio 3 : 2. If 20% of the boys and 25% of the girls are
adults, the percentage of the students who are minor, is

(1) 58% (2) 67.5% (3) 78% (4) 82.5%

85. A fan is listed at Rs 1,500 and a discount of 20% is offered on the list price. What additional
discount must be offered to the customer to bring the net price to Rs 1,104?

(3) 8% (2) 10% (3) 12% (4) 15%

86. By selling a table for Rs 350 instead of Rs 400, loss percent increases by 5% The cost price of the
table is

(1) Rs 435 (2) Rs 417.50 (3) Rs 1,000 (4) Rs 1,050
87. If 3 persons weave 336 shawls in 14 days, how many shawls will 8 persons weave in 5 days?
(1) 180 (2) 210 (3) 252 (4) 320

88. If 18 binders bind 9000 books in 10 days, how many binders will be required to bind 6600 books in
12 das?

(1) 55 (2) 14 (3) 13 (4) 11

89. The speed of a train 150 m long is 50 kmph. How much time will it take to pass a platform 600 m
long?

(1) 50 sec (2) 54 sec (3) 60 sec (4) 64 sec

90. The size of a wooden block is (15 cm x 12 cm x 20 cm). How many such blocks will be required to
construct a solid wooden cube of minimum size?

(1) 45 (2) 48 (3) 60 (4) 75
91. The HCF of 42, 63, 140 is
(1) 14 2) 9 (3) 21 (4) 7

92. The sum of two numbers is 36. Its HCF is 3 and LCM is 105. What is the sum of the reciprocal of
the numbers?

(D) 2= (3) (4) -
93. The largest number that divides 210, 315, 147 and 168 exactly, is
13 27 (3) 21 (4) 35

94. What is the greatest number of 3 digits which when divided by 6, 9 and 12 leaves a remainder 3 in
each case?

(1) 903 (2) 939 (3) 975 (4) 996

95. What is the least number which when divided by 5, 6, 7 and 8 gives remainder 3 in each case and is
completely divisible by 9 ?

(1) 1677 (2) 1633 (3) 2523 (4) 3363

96. A maximum of how many piece's of 12.6 cm can be cut from a 857 cm long rod?
(1) 58 (2) 62 (3) 64 (4) 68

97. What decimal fraction is 40 ml of a lilre?

(1) 4 (2) .04 (3) .05 (4) .08

98. The average of all odd numbers up to 100 is :
(1) 51 (2) 50 (3) 495 (4) 49



99. The average age of 3 friends is 23. Even if the age of the 4th friend is added, the average remains
23. What is the age of the 4th friend?

(1) 21 years (2) 23 years (3) 32 years (4) 43 years

100. A man covers half of his journey at 6 km/hr and the remaining half at 3 km/hr. His average speed
is:

(1) 9 km/hr (2) 4.5 km/hr (3) 4 km/hr (4) 3 km/hr
101. The place value of 7 in the numeral 63472 1 is
Q)7 (2) 721 (3) 714 (4) 700

102. Find out the value at the place shown by ? :
9543+7314=8362+ ?

(1) 8230 (2) 8410 (3) 8500 (4) 8600
103. The value at the plane of ? will be :

587 x999 =7

(1) 586413 (2) 587523 (3) 614823 (4) 615173
104. Find out the value at place.

888888888+ =91

(1) 88889 (2) 29 (3) 44449 (4) 11

105. A, B, C, D are four consecutive odd integers and their average is 42, What is the product of B and
D?

(1) 1860 (2) 1890 (3) 1845 (4) 1677

106. Kindle is related to Burn in the same way as Angry is related to :

(1) Annoyed (2) Determined (3) Resentful (4) Furious

107. Boat is related to Sails in the same way as Balloon is related to_ .

(1) Hot air (2) Rope (3) Nylon (4) Rubber

108. Water is to Oxygen as Table Salt is to .

(2) Iron (2) Sodium (3) Calcium (4) Proteins

109. Sweet is to Chocolate as Book is to .

(1) Dictionary (2) Library (3) Encyclopedia (4) Atlas

110. There are alike in some manner and the fourth one is different. Choose the odd one :
(1) Wages (2) Honorarium (3) Pocket money (4) Salary

111. Choose that set of numbers from the four alternative sets that is similar to the given set (6, 13,22):
(1) (6,13,27) (2) (10,16,28) (3) (11,18,27) (4) (13,19,32)

112. Select the pair in which the numbers are similarly related as in given pair (5:35):

Q) 7:77 (2) 9:45 (3) 11:55 (4) 3:24

113. Which of the following is the value of 2.57 x 2.57 X 2.57 X 7.43 X 2+ 7.43 X 7.43?
D1 (2) 10 (3) 100 (4) 200.59

114. Which of the following is the highest common factor of 42, 70, 98 and 126?

Q)2 (2) 14 (3) 6 4)7

115. Which of the following would be the number if the difference between three times and seven
times of the number comes to 36 ?

1) 6 (29 (3) 12 (4) 18

116. Mohan sold his watch for Rs 144, If the percentage of his profit was equal to the cost price, what
would have been the cost of the watch?

(1) Rs 75 (2) Rs 80 (3) Rs 85 (4) Rs 90

117. Which of the following fractions is the biggest in value?
m= 2= (3) = (4)=

701



118. Which of the following is equivalent of 40 ‘C temperature in Fahrenheit Scale?

(1) 75° (2) 80° (3) 104° (4) 112°
119. What percent of 70 is 46% ?
(1) 63 (2) 66 (3) 68 (4) 70

120. If 12 men can do a piece of work in 24 days, then in how many days 18 men can do the same
work?

(1) 12 (2) 14 (3) 16 (4) 20

121. A number is three less than 4 times another number. If their sum is equal to 117, then the greater
number is :

(1) 105 (2) 93 (3) 68 (4) 72
122. A sum of money doubles itself in 8 years at. simple interest. What would be ran of interest?
(1) 122% (2) 122% (3) 12% (4) 8%

123. If the English alphabet is written in reverse order, which one of the following letter will be the
14" letter from the left?

DQ M @)P (4) O

124. Which one of the words given below is different from the rest?

(1) Mango (2) Pomegranate (3) Brinjal (4) Apple

125. Which one of the following is the same as Ghee, Cream and Butter?

(1) Sweets (2) Curd (3) Water (4) Wine

126. ' House' is related to 'Shelter', in the same way 'Soap’ is related to which of the following?
(1) Perfume (2) Cleanliness (3) Bathroom (4) Water

127. Four persons A, B, C, D are playing cards. B and C are partners, D is facing towards South. Next
to the right of D is B. Where A is facing?

(1) South (2) North (3) West (4) East
128. Ram is 9th from downwards in a class of 31 students. What will be his position from upwards?
(1) 21st (2) 22nd (3) 23rd (4) 24th

129. If paper is called ink, ink is called pen, pen is called book, book is called dictionary, dictionary is
called water and water is called milk, then which of the following is used for writing purposes?

(1) Water (2) Milk (3) Ink (4) Pen
130. If in a non-Leap Year it is Tuesday on 28th February, then what day will be on 28th March?
(1) Friday (2) Sunday (3) Tuesday (4) Saturday

Note : Four alternatives arc given as possible answers to each question. Give the correct choice as an
answer.
Directions: (Question No. 131-134) Select the word nearest in meaning to the given italic word.

131. Fallacy

(1) Truth (2) Loss (3) Error (4) Weakness
132. Consecrated

(1) Accepted (2) Hallowed (3) Barren (4) Forged
133. Nebulous

(1) Clear (2) Remote (3) Barren (4) Hazy
134. Muster

(1) Collect (2) Fire (3) Report (4) Separate

Directions: (Question No. 135-138) Select the word opposite in meaning to the given italic word.




135. Catastrophic

(1) Ruthless (2) Negligible (3) Accurate (4) Pleasant
136. Quell

(1) Excite (2) Permit (3) Prevent (4) Pacify

137. Mettle

(1) Boldness (2) Timidity (3) Kindness (4) Mercilessness
138. Tacit

(1) Acknowledged (2) Ridiculed (3) Spoken (4) Enlightened
Directions: (Question No. 139-142) Fill in the blanks with correct preposition.

139. She was arrested bribery charges.

(1) for (2) in (3)on (4) at

140. They seem destitute ordinary human feelings.

(1) in (2) of (3) for (4) at

141. He has been debarred appearing at the ensuing examination.

(1) at (2) of (3) for (4) from

142. They were astonished her behaviour.

(1) at (2) of (3) for (4) from
Directions: (Question No. 143-146) fill in the blanks with the correct word.

143. If John the invitation, he would come here.

(1) will take (2) takes (3) received (4) receives
144, Two and two four.

(1) made (2) makes (3) have (4) has

145. Army has been in the flood-affected areas.

(1) kept (2) put (3) confined (4) deployed
146. Recent events have opinion on educational matters.

(1) radicalized (2) focussed (3) discharged (4) rendered
Directions: (Question No. 147 and 148) Identify the part having an error in the following sentences.
147. (1) India wins (2) the first one-day

(3) cricket match against Australia (4) at Kanpur.

148. (1) This room is (2) 15 feet long and 12 feet wide,

(3) if my mathematics (4) is correct.

Directions: (Question No. 149 and 150) Select the option that best expresses the meaning of the
following idioms.

149. With flying colours

(1) Luxuriantly (2) Triumphantly (3) Reverently (4) Passionately

150. Head over heels

(1) Thoroughly (2) Indecently (3) Leisurely (4) Humbly




